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{. Give the major product for zach of the following reactiona. {4 points ilach]
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2. Propose a siep-by-step mechanism fur the following reaction. {6 poiits)
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1. Explain the following terms: { 5% for each term )

(a}. lanthgnide contraction

{b). dispersion force

{c} VIEPR

{d). chira}

{e). HOMO

{1). lattice energy (lattice enthalpy)
{x). soft base

(). superacid

(i), cubic close packing

{§}. chalcogen

(k). chedsting ligands (chelate)
(1). ligand field theory
{m)I-back-bonding

{0). Jahn-Teller distortion

(p). LMCT '

{q). trans effect

{1r}. outer-sphere reaction

(s). 13-electron rule

(1). oxidative addition

(). tsolobal analogy
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ﬁ Mustrate the folinwing terms:

(1] pofats tuch. {ise equationd, Ggnres and ingrams as much ns passible)
I. Schrodinger equation

2. Boltzman distribution
3. Stimulated emission
4. Yibrational energy

5. Pauli exelnsion principie
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Answer the following questions

1. Give tha chamical structures of

o

SO o oo

The components of nucleic acid and a polynucleotide of
Daoxyribonucieic acid, respectively [20%)

one amino acid with hydroxylic group, aliphatic side chain, aromatic
ring and sulfur atom, respectivaly [15%]

NADP [5%]

Heme [5%]

Cellulose [6%)

primary structure of protein [6%]

Cholesterol and testosterol [8%]

phosphatidylcholing and sphingomyelin [6%]

2. Describe briefly and give the pathway of the glycolysis [pleasze gwa the
chemical structure for each intermediate if possible] [30%]
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